AD Series Accessory
Mounting Kit Aseembly/Installation Instructions

The following page(s) cover the installation of various Rail Adapter Kits used on
the new ASCO AD Series Shelving Kits.

RKFSVLHD *“Rail Sys, AD Series, Left Hand Door”
RKFSVLWB “Rail Sys, AD Series, Long Wheel Base”
RKFSVXLWB “Rail Sys, AD Series, Xtra-Long Wheel Base”

RKA4 “Adapter, Rail Kit, 4-pc, w/4 Leveling Feet”

3 “Shelf Rack, KD, 12"d x 46”h x 18"w”
33  “Shelf Rack, KD, 12"d x 46’h x 12"w”
33W  “Shelf Rack, Welded, w/o Bins, 15"Dx46"Hx10"W”
33WB “Shelf Rack, Welded, w/Bins, 15"D x 46’H x 10°"W"
40 ‘Wheelhouse Bin, KD, 14’D x 12.5"H x 42"W"

ISSUE: A P.N: 36795-0

BEFORE YOU START!

ALL FASTENERS USED IN THE ASSEMBLY AND INSTALLATION OF THIS PRODUCT
SHOULD BE TIGHTENED TO THE SPECIFIED TORQUE. THE USE OF NON-
STANDARD FASTENERS AND/OR DEVIATING FROM THE FASTENERS SPECIFIED
IN THE INSTRUCTION (S) MAY VOID YOUR PRODUCT WARRANTY!

CHK.BY: ???

YOU WILL NEED THE FOLLOWING TOOLS IN ORDER TO
COMPLETE THIS JOB.

1/2” & 5/8” End Wrench, Ratchet w/1/2” Socket,
Slotted Screwdriver, Torque Wrench

DWG.BY: DCS REV.BY: ???

Locate and drill (2) 3/8” diameter thru holes in
end panel flanges to bolt to the slides in the rail.
Install (4) Leveler Legs in the existing holes at the
e corners of the cabinet. Tighten the fasteners
= (5/16UNC x 5/8” Hex Hd Bolt) to 12 +/- 1 ft-Ibs
e torque. Adjust the leveler legs as required.

Note:
All products need to be attached to the Upper Rail or an adjacent cabinet at the top via brackets and/or
straps bolted to the enclosed “slide” in the upper rail or to the side of the adjacent cabinet.

ECN- 11623 DATE: 9-12-2008

YOUR INSTALLATION IS NOW COMPLETE! STOW THIS COPY IN
THE VEHICLE FOR FUTURE REFERENCE!

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 * (517) 265-6194

P.N. 36795-0 Revision A Page No. 1 of 5



AD Series Accessory
Mounting Kit Aseembly/Installation Instructions

RKA4 “Adapter, Rail Kit, 4-pc, w/4 Leveling Feet”

W/U: 4442 “Welded Shelf Asm, 42"w x 46’h x 14"d”

BEFORE YOU START!

ALL FASTENERS USED IN THE ASSEMBLY AND INSTALLATION OF THIS PRODUCT
SHOULD BE TIGHTENED TO THE SPECIFIED TORQUE. THE USE OF NON-
STANDARD FASTENERS AND/OR DEVIATING FROM THE FASTENERS SPECIFIED
IN THE INSTRUCTION (S) MAY VOID YOUR PRODUCT WARRANTY!

YOU WILL NEED THE FOLLOWING TOOLS IN ORDER TO
COMPLETE THIS JOB.

1/2” & 5/8” End Wrench, Ratchet w/1/2” Socket,
Slotted Screwdriver, Torque Wrench

Locate and drill (2) 3/8” diameter thru holes in
end panel flanges to bolt to the slides in the rail.
Install (4) Leveler Legs in the existing holes at the
corners of the cabinet. Tighten the fasteners
(5/16UNC x 5/8” Hex Hd Bolt) to 12 +/- 1 ft-Ibs
torque. Adjust the leveler legs as required.

Note:

All products need to be attached to the Upper Rail or an adjacent cabinet at the top via brackets and/or
straps bolted to the enclosed “slide” in the upper rail or to the side of the adjacent cabinet.

YOUR INSTALLATION IS NOW COMPLETE! STOW THIS COPY IN
THE VEHICLE FOR FUTURE REFERENCE!

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 * (517) 265-6194

P.N. 36795-0 Revision A Page No. 2 of 5



AD Series Accessory
Mounting Kit Aseembly/Installation Instructions

RKA4 “Adapter, Rail Kit, 4-pc, w/4 Leveling Feet”

CL1446R “Cable Locker, w/Full Dr, 14’Dx46"Hx18"W"
CL1446D “Cable Locker, w/Med Dr, 14’Dx46"Hx18"W”

BEFORE YOU START!

ALL FASTENERS USED IN THE ASSEMBLY AND INSTALLATION OF THIS PRODUCT
SHOULD BE TIGHTENED TO THE SPECIFIED TORQUE. THE USE OF NON-
STANDARD FASTENERS AND/OR DEVIATING FROM THE FASTENERS SPECIFIED
IN THE INSTRUCTION (S) MAY VOID YOUR PRODUCT WARRANTY!

YOU WILL NEED THE FOLLOWING TOOLS IN ORDER TO COMPLETE THIS
JOB.

1/2” & 5/8” End Wrench, Ratchet w/1/2” Socket,
Slotted Screwdriver, Torque Wrench

Locate and drill (2) 3/8” diameter thru holes in
end panel flanges to bolt to the slides in the rail.
Install (4) Leveler Legs in the existing holes at the
corners of the cabinet. Tighten the fasteners
(5/16UNC x 5/8” Hex Hd Bolt) to 12 +/- 1 ft-Ibs

CL1446R CL1446D torque. Adjust the leveler legs as required.

Note:
All products need to be attached to the Upper Rail or an adjacent cabinet at the top via brackets and/or
straps bolted to the enclosed “slide” in the upper rail or to the side of the adjacent cabinet.

YOUR INSTALLATION IS NOW COMPLETE! STOW THIS COPY IN
THE VEHICLE FOR FUTURE REFERENCE!

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 * (517) 265-6194

P.N. 36795-0 Revision A Page No. 3 of 5



AD Series Accessory
Mounting Kit Aseembly/Installation Instructions

RKA4 “Adapter, Rail Kit, 4-pc, w/4 Leveling Feet”

W/U: KD Series “Open End Adjustable KD Shelving”
JD Series “Jumbo Deep Adjustable Shelving”
HD Series “Heavy Duty Adjustable Shelving”

BEFORE YOU START!

ALL FASTENERS USED IN THE ASSEMBLY AND INSTALLATION OF THIS PRODUCT
SHOULD BE TIGHTENED TO THE SPECIFIED TORQUE. THE USE OF NON-
STANDARD FASTENERS AND/OR DEVIATING FROM THE FASTENERS SPECIFIED
IN THE INSTRUCTION (S) MAY VOID YOUR PRODUCT WARRANTY!

YOU WILL NEED THE FOLLOWING TOOLS IN ORDER TO COMPLETE THIS
JOB.

1/2” & 5/8” End Wrench, Ratchet w/1/2” Socket,
Slotted Screwdriver, Torque Wrench

KD Series (MD524)

Locate and drill (2) 3/8” diameter thru holes in
end panel flanges to bolt to the slides in the rail.
JD Series (JD42FP) Install (4) Leveler I__egs ir_1 the existing holes at the
corners of the cabinet. Tighten the fasteners
(5/16UNC x 5/8” Hex Hd Bolt) to 12 +/- 1 ft-Ibs
torque. Adjust the leveler legs as required.

HD Series (HD-42FP)

Note:
All products need to be attached to the Upper Rail or an adjacent cabinet at the top via brackets and/or
straps bolted to the enclosed “slide” in the upper rail or to the side of the adjacent cabinet.

YOUR INSTALLATION IS NOW COMPLETE! STOW THIS COPY IN
THE VEHICLE FOR FUTURE REFERENCE!

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 * (517) 265-6194

P.N. 36795-0 Revision A Page No. 4 of 5



AD Series Accessory
Mounting Kit Aseembly/Installation Instructions

RKA4 “Adapter, Rail Kit, 4-pc, w/4 Leveling Feet”

W/U: KDRH2 “KD Reel Holder, 18 x 46 x 18

BEFORE YOU START!

ALL FASTENERS USED IN THE ASSEMBLY AND INSTALLATION OF THIS PRODUCT
SHOULD BE TIGHTENED TO THE SPECIFIED TORQUE. THE USE OF NON-
STANDARD FASTENERS AND/OR DEVIATING FROM THE FASTENERS SPECIFIED
IN THE INSTRUCTION (S) MAY VOID YOUR PRODUCT WARRANTY!

YOU WILL NEED THE FOLLOWING TOOLS IN ORDER TO COMPLETE THIS
JOB.

1/2” & 5/8” End Wrench, Ratchet w/1/2” Socket,
Slotted Screwdriver, Torque Wrench

Locate and drill (2) 3/8” diameter thru holes in
end panel flanges to bolt to the slides in the rail.

]

< Install (4) Leveler Legs in the existing holes at the
R corners of the cabinet. Tighten the fasteners
i (5/16UNC x 5/8” Hex Hd Bolt) to 12 +/- 1 ft-Ibs
\\: torque. Adjust the leveler legs as required.
=
==
=]
KDRH2

Note:
All products need to be attached to the Upper Rail or an adjacent cabinet at the top via brackets and/or
straps bolted to the enclosed “slide” in the upper rail or to the side of the adjacent cabinet.

YOUR INSTALLATION IS NOW COMPLETE! STOW THIS COPY IN
THE VEHICLE FOR FUTURE REFERENCE!

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 * (517) 265-6194

P.N. 36795-0 Revision A Page No. 50of 5



